2025-2026 ELIPS Summer Pipe Materials Bid Summary May 29, 2025 11:00am Bid Opening **Orchard & Vineyard Supply** Core & Main **Ferguson Waterworks HD Fowler ENG Estimate** Supplier Pasco, WA Pasco, WA Pasco, WA Yakima, WA Bid Bond Χ Χ Χ Χ Debarment Χ Χ Χ Χ Signed Proposal Form Χ Χ Χ Χ Schedule of Prices Χ Χ Х Χ Schedule A - IPS & PIP Pipe Total Bid Amount \$553,082.60 \$545,804.60 \$589,588.77 \$550,623.60 Schedule B - IPS, PIP, & C900 Pipe Total Bid Amount \$406,533.70 \$359,684.60 \$359,632.20 \$359,656.80 Schedule C - IPS, PIP, & C900 PVC Fittings Total Bid Amount \$190,474.41 \$213,153.42 \$191,640.21 \$223,731.35 Schedule D - Valves, Vents, and Fittings Total Bid Amount \$133,796.58 \$141,791.06 \$124,972.11 \$123,448.71 Schedule E - Steel Pipe Total Bid Amount \$17,916.60 \$18,369.00 \$14,040.00 \$17,940.00 \$190,474.41 \$545,804.60 \$497,120.91 Vender Tota Bid Total \$1,700,000.00 \$1,233,399.92

						Bid Pr	oposal - Sched	ule A (IPS & PIP Pip	e) Deliver to	Cantrell				
Item	Size	Specification	Material	Type	Units	Qnty	Orchard & Vine	eyard Supply - Pasco	Core &	Main - Pasco	Ferguson Wat	terworks - Pasco	HD Fow	ler - Yakima
	5120	Specification	Iviateriai	Турс	Oilits	Qiity	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price
								PVC PIPE						
1	4"	125psi	IPS PVC	G	FT	3260	\$1.72	\$5,607.20	\$2.08	\$6,780.80	\$1.80	\$5,868.00	\$1.67	\$5,444.20
2	6"	125psi	IPS PVC	G	FT	3340	\$3.75	\$12,523.66	\$3.89	\$12,992.60	\$3.88	\$12,959.20	\$3.64	\$12,157.60
3	8"	125psi	IPS PVC	G	FT	660	\$6.46	\$4,264.66	\$7.31	\$4,824.60	\$6.66	\$4,395.60	\$6.67	\$4,402.20
4	10"	125psi	IPS PVC	G	FT	500	\$9.95	\$4,977.25	\$11.39	\$5,695.00	\$10.37	\$5,185.00	\$10.39	\$5,195.00
5	12"	100psi	IPS PVC	G	FT	900	\$10.66	\$9,594.00	\$15.55	\$13,995.00	\$11.31	\$10,179.00	\$14.60	\$13,140.00
6	15"	100psi	PIP PVC	G	FT	1600	\$15.61	\$24,976.00	\$15.50	\$24,800.00	\$15.00	\$24,000.00	\$15.87	\$25,392.00
7	18"	100psi	PIP PVC	G	FT	2100	\$22.55	\$47,355.00	\$22.20	\$46,620.00	\$21.67	\$45,507.00	\$22.36	\$46,956.00
8	21"	100psi	PIP PVC	G	FT	1600	\$33.51	\$53,616.00	\$31.76	\$50,816.00	\$31.78	\$50,848.00	\$32.27	\$51,632.00
9	24"	100psi	PIP PVC	G	FT	5740	\$42.48	\$243,835.20	\$38.99	\$223,802.60	\$39.02	\$223,974.80	\$38.94	\$223,515.60
10	27"	100psi	PIP PVC	G	FT	3300	\$55.41	\$182,839.80	\$49.32	\$162,756.00	\$49.36	\$162,888.00	\$49.33	\$162,789.00
			•	Total B	id Amo	unt		\$589,588.77		\$553,082.60		\$545,804.60		\$550,623.60
					Bi	d Prop	osal - Schedule	B (IPS, PIP, & C900	Pipe) Deliver	to Turner				
Item	Size	Specification	Material	Type	Units	Qnty		eyard Supply - Pasco		Main - Pasco	Ferguson Wat	terworks - Pasco		ler - Yakima
						- 7	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price
								PVC PIPE						
1	4"	125psi	IPS PVC	G	FT	740	\$1.72	\$1,272.80	\$2.08	\$1,539.20	\$1.80	\$1,332.00	\$1.67	\$1,235.80
2	6"	125psi	IPS PVC	G	FT	1260	\$3.75	\$4,724.50	\$3.89	\$4,901.40	\$3.88	\$4,888.80	\$3.64	\$4,586.40
3	27"	100psi	PIP PVC	G	FT	3400	\$55.41	\$188,380.40	\$49.32	\$167,688.00	\$49.36	\$167,824.00	\$49.47	\$168,198.00
4	30"	100psi	C900 PVC	G	FT	2800	\$75.77	\$212,156.00	\$66.27	\$185,556.00	\$66.29	\$185,612.00	\$66.29	\$185,612.00
				Total B	id Amo	unt		\$406,533.70		\$359,684.60		\$359,656.80		\$359,632.20

				Bio	l Propo	sal - S	chedule C (IPS,	PIP & C900 PVC Fit	tings) Deliver	to SS Warehouse				
Item	Size	Specification	Material	Туре	Units	Qnty	Orchard & Vine	eyard Supply - Pasco	Core &	Main - Pasco	Ferguson Wat	terworks - Pasco	HD Fow	rler - Yakima
iteiii	Size	Specification	iviateriai	Туре	Ullits	QIII	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price
								ELBOWS						
1	4"	45	IPS PVC	SXS	EA	6	\$11.08	\$66.48	\$13.05	\$78.30	\$29.63	\$177.78	\$30.28	\$181.68
2	6"	30	IPS PVC	SXS	EA	6	\$54.50	\$327.00	\$36.33	\$217.98	\$47.37	\$284.22	\$48.41	\$290.46
3	6"	45	IPS PVC	SXS	EA	4	\$27.37	\$109.48	\$32.25	\$129.00	\$73.21	\$292.84	\$74.81	\$299.24
4	8"	22.5	IPS PVC	SXS	EA	4	\$96.63	\$386.52	\$61.40	\$245.60	\$80.06	\$320.24	\$81.82	\$327.28
5	8"	30	IPS PVC	SXS	EA	2	\$92.13	\$184.26	\$61.40	\$122.80	\$80.06	\$160.12	\$81.82	\$163.64
6	15"	11.25	PIP PVC	GXG	EA	1	\$327.73	\$327.73	\$416.83	\$416.83	\$342.72	\$342.72	\$377.33	\$377.33
7	15"	30	PIP PVC	GXG	EA	1	\$407.22	\$407.22	\$517.88	\$517.88	\$342.72	\$342.72	\$468.80	\$468.80
8	15"	45	PIP PVC	GXG	EA	5	\$407.22	\$2,036.10	\$517.88	\$2,589.40	\$425.95	\$2,129.75	\$468.80	\$2,344.00
9	18"	45	PIP PVC	GXG	EA	2	\$644.79	\$1,289.58	\$821.24	\$1,642.48	\$675.34	\$1,350.68	\$743.40	\$1,486.80
10	21"	30	PIP PVC	GXG	EA	1	\$919.40	\$919.40	\$1,169.28	\$1,169.28	\$864.76	\$864.76	\$1,058.47	\$1,058.47
11	24"	11.25	PIP PVC	GXG	EA	5	\$1,389.69	\$6,948.45	\$1,688.85	\$8,444.25	\$1,453.19	\$7,265.95	\$1,599.91	\$7,999.55
12	24"	22.5	PIP PVC	GXG	EA	2	\$1,389.69	\$2,779.38	\$1,688.85	\$3,377.70	\$1,453.19	\$2,906.38	\$1,599.91	\$3,199.82
13	24"	30	PIP PVC	GXG	EA	4	\$1,490.33	\$5,961.33	\$1,812.18	\$7,248.72	\$1,453.19	\$5,812.76	\$1,716.75	\$6,867.00
14	24"	45	PIP PVC	GXG	EA	1	\$1,490.33	\$1,490.33	\$1,896.47	\$1,896.47	\$1,559.38	\$1,559.38	\$1,716.75	\$1,716.75
15	27"	11.25	PIP PVC	GXG	EA	4	\$1,730.35	\$6,921.39	\$2,111.79	\$8,447.16	\$1,817.33	\$7,269.32	\$2,000.58	\$8,002.32
16	27"	22.5	PIP PVC	GXG	EA	3	\$1,730.35	\$5,191.04	\$2,111.79	\$6,335.37	\$1,817.33	\$5,451.99	\$2,000.58	\$6,001.74
17	27"	30	PIP PVC	GXG	EA	2	\$1,938.48	\$3,876.95	\$2,355.73	\$4,711.46	\$1,817.33	\$3,634.66	\$2,231.67	\$4,463.34
18	27"	45	PIP PVC	GXG	EA	16	\$1,938.48	\$31,015.62	\$2,409.27	\$38,548.32	\$2,027.25	\$32,436.00	\$2,231.67	\$35,706.72
19	30"	11.25	C900	GXG	EA	1	\$3,546.54	\$3,546.54	\$2,480.63	\$2,480.63	\$2,292.04	\$2,292.04	\$2,365.30	\$2,365.30
20	30"	22.5	C900	GXG	EA	1	\$4,433.18	\$4,433.18	\$2,595.66	\$2,595.66	\$2,292.04	\$2,292.04	\$2,356.30	\$2,356.30
21	30"	45	C900	GXG	EA	2	\$4,433.18	\$8,866.36	\$2,196.84	\$4,393.68	\$2,865.05	\$5,730.10	\$2,956.62	\$5,913.24

				Bio	l Propo	sal - So	chedule C (IPS,	PIP & C900 PVC Fits	tings) Deliver	to SS Warehouse				
Item	Size	Specification	Material	Туре	Units	Qnty	Orchard & Vine	eyard Supply - Pasco		Main - Pasco	Ferguson Wat	erworks - Pasco	HD Fow	ler - Yakima
iteiii	3120	Specification	Waterial	Турс	Onics	Qiity	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price
							С	ONCENTRIC REDUCER	RS					
22	6"x4"		IPS PVC	SxS	EA	4	\$15.86	\$63.44	\$19.08	\$76.32	\$41.28	\$165.12	\$42.19	\$168.76
23	8"x6"		IPS PVC	SxS	EA	3	\$40.61	\$121.83	\$65.70	\$197.10	\$105.73	\$317.19	\$108.05	\$324.15
24	10"x8"		IPS PVC	SxS	EA	1	\$48.16	\$48.16	\$79.66	\$79.66	\$99.03	\$99.03	\$101.21	\$101.21
25	12"x4"		IPS PVC	SxS	EA	2	\$301.51	\$603.02	\$217.30	\$434.60	\$270.16	\$540.32	\$276.09	\$552.18
26	12"x8"		IPS PVC	SxS	EA	2	\$525.32	\$1,050.64	\$194.14	\$388.28	\$241.37	\$482.74	\$246.67	\$493.34
27	12"x10"		IPS PVC	SxS	EA	1	\$91.64	\$91.64	\$115.97	\$115.97	\$144.19	\$144.19	\$147.35	\$147.35
28	15"x8"		PIPxIPS PVC	GxS	EA	1	\$541.65	\$541.65	\$511.48	\$511.48	\$323.14	\$323.14	\$463.54	\$463.54
29	15"x12"		PIPxIPS PVC	GxG	EA	1	\$349.73	\$349.73	\$411.83	\$411.83	\$291.92	\$291.92	\$348.84	\$348.84
30	18"x15"		PIP PVC	GxG	EA	1	\$446.17	\$446.17	\$595.11	\$595.11	\$466.65	\$466.65	\$513.67	\$513.67
31	21"x12"		PIPxIPS PVC	GxG	EA	1	\$1,062.31	\$1,062.31	\$729.48	\$729.48	\$1,043.46	\$1,043.46	\$696.11	\$696.11
32	24"x6"		PIPxIPS PVC	GxS	EA	1	\$2,580.36	\$2,580.36	\$1,672.00	\$1,672.00	\$1,341.81	\$1,341.81	\$1,416.23	\$1,416.23
33	27"x8"		PIPxIPS PVC	GxS	EA	2	\$2,903.60	\$5,807.20	\$1,861.44	\$3,722.88	\$1,745.12	\$3,490.24	\$1,711.27	\$3,422.54
34	30"x27"		C900XPIP PVC	GxG	EA	1	\$1,951.19	\$1,951.19	\$2,079.70	\$2,079.70	\$1,736.92	\$1,736.92	\$1,792.43	\$1,792.43
								REDUCER BUSHINGS						
35	6"x2"		IPS PVC	SxT	EA	3	\$19.37	\$58.11	\$23.31	\$69.93	\$50.43	\$151.29	\$48.96	\$146.88
36	6"x4"		IPS PVC	SxS	EA	15	\$12.79	\$191.85	\$15.80	\$237.00	\$34.20	\$513.00	\$34.95	\$524.25
37	8"x6"		IPS PVC	SxS	EA	4	\$44.56	\$178.24	\$55.11	\$220.44	\$119.20	\$476.80	\$121.82	\$487.28

	Bid Proposal - Schedule C (IPS, PIP & C900 PVC Fittings) Deliver to SS Warehouse Size Specification Material Type Units Qnty Unit Price Total Price Unit Price Price Un														
Item	Size	Specification	Material	Type	Units	Ontv		' '' '						rler - Yakima	
	Size	Specification	Material	1,750	Oilles	Q.i.t,	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price	
								TEE'S							
38	4"x4"x4"	Tee	IPS PVC	(SxS)	EA	6	\$12.62	\$75.72	\$15.89	\$95.34	\$33.77	\$202.62	\$34.51	\$207.06	
39	6"x6"x4"	Tee	IPS PVC	(SxS)	EA	4	\$42.50	\$170.00	\$52.50	\$210.00	\$113.65	\$454.60	\$116.15	\$464.60	
40	6"x6"x6"	Tee	IPS PVC	(SxS)	EA	2	\$42.50	\$85.00	\$52.50	\$105.00	\$113.66	\$227.32	\$116.15	\$232.30	
41	8"x8"x6"	Tee	IPS PVC	(SxS)	EA	8	\$98.55	\$788.40	\$121.76	\$974.08	\$263.60	\$2,108.80	\$269.38	\$2,155.04	
42	8"x8"x8"	Tee	IPS PVC	(SxS)	EA	3	\$98.55	\$295.65	\$121.76	\$365.28	\$263.60	\$790.80	\$269.38	\$808.14	
43	10"x10"x 6"	Tee	IPS PVC	(GxS)	EA	3	\$163.60	\$490.80	\$467.67	\$1,403.01	\$232.37	\$697.11	\$403.07	\$1,209.21	
44	12"x12"x12"	Tee	IPS PVC	(GxG)	EA	4	\$337.54	\$1,350.16	\$574.96	\$2,299.84	\$400.88	\$1,603.52	\$495.54	\$1,982.16	
45	15"x15"x6"	Tee	PIPxIPS PVC	(GxS)	EA	3	\$471.31	\$1,413.93	\$192.94	\$578.82	\$388.01	\$1,164.03	\$232.89	\$698.67	
46	15"x15"x15"	Tee	PIP PVC	(GxG)	EA	1	\$501.86	\$501.86	\$669.37	\$669.37	\$524.79	\$524.79	\$686.10	\$686.10	
47	18"x18"x6"	Tee	PIPxIPS PVC	(GxS)	EA	4	\$621.92	\$2,487.68	\$758.27	\$3,033.08	\$510.71	\$2,042.84	\$993.38	\$3,973.52	
48	18"x18"x8"	Tee	PIPxIPS PVC	(GxS)	EA	1	\$671.33	\$671.33	\$931.38	\$931.38	\$554.47	\$554.47	\$992.79	\$992.79	
49	21"x21"x6"	Tee	PIPxIPS PVC	(GxS)	EA	4	\$975.44	\$3,901.76	\$1,328.12	\$5,312.48	\$787.34	\$3,149.36	\$1,481.63	\$5,926.52	
50	21"x21"x18"	Tee	PIP PVC	(GxG)	EA	1	\$1,087.60	\$1,087.60	\$1,351.73	\$1,351.73	\$825.28	\$825.28	\$1,252.09	\$1,252.09	
51	24"x24"x6"	Tee	PIPxIPS PVC	(GxS)	EA	7	\$2,349.85	\$16,448.95	\$2,457.82	\$17,204.74	\$2,006.75	\$14,047.25	\$2,741.90	\$19,193.30	
52	24"x24"x24"	Tee	PIP PVC	(GxG)	EA	1	\$2,751.94	\$2,751.94	\$3,344.22	\$3,344.22	\$2,877.62	\$2,877.62	\$3,168.12	\$3,168.12	
53	27"x27"x6"	Tee	PIPxIPS PVC	(GxS)	EA	12	\$1,578.97	\$18,947.64	\$3,072.46	\$36,869.52	\$2,526.95	\$30,323.40	\$3,427.60	\$41,131.20	
54	27"x27"x24"	Tee	PIP PVC	(GxG)	EA	1	\$1,981.89	\$1,981.89	\$4,197.30	\$4,197.30	\$3,611.72	\$3,611.72	\$3,976.27	\$3,976.27	
55	27"x27"x27"	Tee	PIP PVC	(GxG)	EA	2	\$2,892.67	\$5,785.34	\$4,923.12	\$9,846.24	\$4,236.26	\$8,472.52	\$4,463.87	\$8,927.74	
56	30"x30"x8"	Tee	C900xIPS PVC	(GxS)	EA	1	\$3,632.87	\$3,632.87	\$4,430.39	\$4,430.39	\$5,366.81	\$5,366.81	\$4,942.80	\$4,942.80	

				Bio	l Propo	sal - S	chedule C (IPS,	PIP & C900 PVC Fit	tings) Deliver	to SS Warehouse				
Item	Size	Specification	Material	Туре	Limita	Qnty	Orchard & Vine	eyard Supply - Pasco	Core &	Main - Pasco	Ferguson Wat	erworks - Pasco	HD Fow	rler - Yakima
item	Size	Specification	iviateriai	Туре	Units	Qnty	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price
							PV	C FLANGES (VAN STO	NE)					
57	2"	Van Stone Flanges	IPS	(SxF)	EA	60	\$10.61	\$636.60	\$15.50	\$930.00	\$20.70	\$1,242.00	\$21.23	\$1,273.80
58	3"	Van Stone Flanges	IPS	(SxF)	EA	10	\$17.92	\$179.20	\$26.45	\$264.50	\$35.34	\$353.40	\$36.11	\$361.10
59	4"	Van Stone Flanges	IPS	(SxF)	EA	40	\$22.64	\$905.60	\$31.95	\$1,278.00	\$44.68	\$1,787.20	\$45.66	\$1,826.40
60	6"	Van Stone Flanges	IPS	(SxF)	EA	20	\$35.64	\$712.80	\$51.44	\$1,028.80	\$70.31	\$1,406.20	\$71.85	\$1,437.00
61	8"	Van Stone Flanges	IPS	(SxF)	EA	4	\$64.29	\$257.16	\$94.92	\$379.68	\$126.82	\$507.28	\$129.61	\$518.44
62	12"	Van Stone Flanges	IPS	(SxF)	EA	4	\$95.95	\$383.80	\$311.74	\$1,246.96	\$239.74	\$958.96	\$245.00	\$980.00
63	18"	Van Stone Flanges	PIP	(SxF)	EA	4	\$1,775.93	\$7,103.72	\$1,010.42	\$4,041.68	\$1,101.48	\$4,405.92	\$1,136.68	\$4,546.72
64	24"	Van Stone Flanges	PIP	(SxF)	EA	2	\$5,259.67	\$10,519.34	\$576.29	\$1,152.58	\$2,457.06	\$4,914.12	\$2,535.59	\$5,071.18
								CAPS						
65	27"	PVC Cap	PIP	S	EA	1	\$488.11	\$488.11	\$787.69	\$787.69	\$820.52	\$820.52	\$846.74	\$846.74
66	30"	PVC Cap	C900	S	EA	4	\$1,047.42	\$4,189.68	\$417.74	\$1,670.96	\$424.87	\$1,699.48	\$438.45	\$1,753.80
		•		Total B	id Amo	unt		\$190,474.41		\$213,153.42		\$191,640.21	\$223,731.35	

				Bio	d Prop	osal - S	schedule D (Va	lves, Vents, and Fitt	ings) Deliver	to SS Warehouse				
Item	Size	Specification	Material	Туре	Units	Qnty		eyard Supply - Pasco		Main - Pasco	Ferguson Wat	terworks - Pasco		ler - Yakima
iteiii	3126	Specification	Iviateriai	Туре	Oilits	Qiity	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price
							RES	SILIENT SEAT GATE VA	LVE					
1	2"	Nut Operated	Steel	Buried	EA	15	\$362.54	\$5,438.10	\$344.41	\$5,166.15	\$246.48	\$3,697.20	\$260.44	\$3,906.60
2	6"	Nut Operated	Steel	Buried	EA	4	\$659.56	\$2,638.24	\$733.53	\$2,934.12	\$705.12	\$2,820.48	\$745.05	\$2,980.20
3	8"	Nut Operated	Steel	Buried	EA	2	\$1,089.36	\$2,178.72	\$1,229.78	\$2,459.56	\$1,297.92	\$2,595.84	\$1,371.43	\$2,742.86
4	12"	Nut Operated	Steel	Buried	EA	1	\$2,713.36	\$2,713.36	\$1,930.59	\$1,930.59	\$2,454.40	\$2,454.40	\$2,593.41	\$2,593.41
5	18"	Nut Operated	Steel	Buried	EA	1	\$14,208.76	\$14,208.76	\$11,294.15	\$11,294.15	\$6,857.46	\$6,857.46	\$7,387.91	\$7,387.91
6	24"	Nut Operated	Steel	Buried	EA	1	\$33,405.70	\$33,405.70	\$25,696.71	\$25,696.71	\$14,562.54	\$14,562.54	\$15,689.01	\$15,689.01
							W	AFER BUTTERFLY VAL	VE					
7	4"	Wheel Operated	Steel/DI	Exposed	EA	81	\$96.15	\$7,788.15	\$240.66	\$19,493.46	\$217.01	\$17,577.81	\$226.81	\$18,371.61
8	6"	Wheel Operated	Steel/DI	Exposed	EA	35	\$124.68	\$4,363.70	\$284.88	\$9,970.80	\$287.18	\$10,051.30	\$300.15	\$10,505.25
					•	-	Р	RESSURE RELIEF VALV	/E					
9	2"	Pressure Relief Valve	Steel	90psi	EA	36	\$151.40	\$5,450.40	\$164.05	\$5,905.80	\$168.12	\$6,052.32	\$110.00	\$3,960.00
					•	-		BALL VALVE						
10	1/4"	Ball Valve	Steel		EA	80	\$7.51	\$600.80	\$8.69	\$695.20	\$8.67	\$693.60	\$9.60	\$768.00
11	2"	Ball Valve	Steel		EA	5	\$53.15	\$265.75	\$78.17	\$390.85	\$56.74	\$283.70	\$62.71	\$313.55
12	4"	Ball Valve	Steel		EA	8	\$305.59	\$2,444.72	\$386.18	\$3,089.44	\$478.66	\$3,829.28	\$430.34	\$3,442.72
							PIPE RE	STRAINER (WITH BOL	Т РАСК)					
13	4"	Pipe Restrainer	Steel		EA	40	\$106.93	\$4,277.32	\$91.88	\$3,675.20	\$91.47	\$3,658.80	\$94.82	\$3,792.80
14	6"	Pipe Restrainer	Steel		EA	19	\$141.80	\$2,694.20	\$103.75	\$1,971.25	\$95.68	\$1,817.92	\$99.19	\$1,884.61
15	8"	Pipe Restrainer	Steel		EA	4	\$244.32	\$977.28	\$155.77	\$623.08	\$140.34	\$561.36	\$150.46	\$601.84

				Bio	d Prop	osal - S	chedule D (Va	lves, Vents, and Fitt	ings) Deliver	to SS Warehouse				
Item	Size	Specification	Material	Tumo	Linite	Qnty	Orchard & Vine	eyard Supply - Pasco	Core &	Main - Pasco	Ferguson Wat	terworks - Pasco	HD Fow	ler - Yakima
item	Size	Specification	Materiai	Type	Units	Qnty	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price
							C	OMPRESSION COUPLI	ER					
16	6"	Lg Bodied Comp. Coupl	Steel	IPS	EA	6	\$195.33	\$1,171.98	\$167.11	\$1,002.66	\$214.54	\$1,287.24	\$223.10	\$1,338.60
17	8"	Lg Bodied Comp. Coupl	Steel	IPS	EA	4	\$244.32	\$977.28	\$201.25	\$805.00	\$268.35	\$1,073.40	\$279.07	\$1,116.28
								TEE'S						
18	1"x1"x1"	Female	Galv	Thread	EA	68	\$2.72	\$184.96	\$6.45	\$438.60	\$5.78	\$393.04	\$3.99	\$271.32
19	4"x4"x2"	Female	Galv	Thread	EA	5	\$74.28	\$371.40	\$146.59	\$732.95	\$159.53	\$797.65	\$110.05	\$550.25
								REDUCER BUSHING						
20	1"x1/4"	Female	Galv	Thread	EA	68	\$2.12	\$144.16	\$5.02	\$341.36	\$4.51	\$306.68	\$3.95	\$268.60
21	2"x1"	Female	Galv	Thread	EA	16	\$3.92	\$62.72	\$9.26	\$148.16	\$8.29	\$132.64	\$7.40	\$118.40
								NIPPLE						
22	1/4"x2"	Male	Galv	Thread	EA	80	\$0.60	\$48.00	\$2.13	\$170.40	\$1.61	\$128.80	\$1.68	\$134.40
23	1"x3"	Male	Galv	Thread	EA	60	\$1.14	\$68.40	\$3.98	\$238.80	\$2.57	\$154.20	\$2.69	\$161.40
24	2"x3 1/2"	Male	Galv	Thread	EA	100	\$2.53	\$253.00	\$8.13	\$813.00	\$6.10	\$610.00	\$6.39	\$639.00
25	4"x3 1/2"	Male	Galv	Thread	EA	4	\$13.19	\$52.76	\$37.62	\$150.48	\$28.50	\$114.00	\$24.97	\$99.88
								THREADED PLUG						
26	1/4"	Male	Galv	Thread	EA	80	\$0.25	\$20.00	\$1.92	\$153.60	\$0.44	\$35.20	\$1.39	\$111.20
								STREET ELBOW						
27	1/2"	90 deg (MxF)	Galv	Thread	EA	140	\$1.75	\$245.00	\$4.15	\$581.00	\$3.71	\$519.40	\$2.55	\$357.00
								TRACE WIRE						
28	2500 ft reel	#14 AWG, blue insul.	Solid Copp.		EA	17	\$325.00	\$5,525.00	\$344.65	\$5,859.05	\$471.70	\$8,018.90	\$300.03	\$5,100.51
								SADDLE SUPPORT						
29	2"	Standon Pipe Support	Galv		EA	20	\$97.07	\$1,941.40	\$98.10	\$1,962.00	\$77.38	\$1,547.60	\$103.54	\$2,070.80
30	3"	Standon Pipe Support	Galv		EA	10	\$97.07	\$970.70	\$98.81	\$988.10	\$79.50	\$795.00	\$103.54	\$1,035.40
32	4"	Standon Pipe Support	Galv		EA	65	\$127.45	\$8,284.25	\$123.50	\$8,027.50	\$92.22	\$5,994.30	\$135.96	\$8,837.40
33	6"	Standon Pipe Support	Galv		EA	24	\$127.45	\$3,058.80	\$123.50	\$2,964.00	\$94.34	\$2,264.16	\$135.96	\$3,263.04

				Bi	d Prop	osal - S	chedule D (Va	ves, Vents, and Fitt	ings) Deliver	to SS Warehouse				
Item	Size	Specification	Material	Туре	Units	Qnty	Orchard & Vine	eyard Supply - Pasco	Core &	Main - Pasco	Ferguson Wat	terworks - Pasco	HD Fow	er - Yakima
iteiii	3126	Specification	iviateriai	туре	Ullits	Qiity	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price	Unit Price	Total Price
							PIF	E LUBRICANT - SOLVE	ENT					
34		27-XL		GAL	EA	120	\$14.41	\$1,729.20	\$14.88	\$1,785.60	\$12.24	\$1,468.80	\$17.97	\$2,156.40
35		Glue		GAL	EA	40	\$103.49	\$4,139.58	\$124.99	\$4,999.60	\$108.64	\$4,345.60	\$109.39	\$4,375.60
36		Primer		GAL	EA	40	\$85.93	\$3,437.20	\$110.74	\$4,429.60	\$93.82	\$3,752.80	\$93.42	\$3,736.80
								VALVE BOX						
37 VALVE STACK COVER CAST IRON EA 25 \$26.00 \$650.00 \$23.00 \$575.00 \$22.12 \$553.00 \$20.41														
38		VALVE STACK TOP	CAST IRON		EA	25	\$79.87	\$1,996.75	\$66.75	\$1,668.75	\$89.19	\$2,229.75	\$58.53	\$1,463.25
39		VALVE STACK EXTENSION	CAST IRON		EA	25	\$175.00	\$4,375.00	\$133.58	\$3,339.50	\$239.97	\$5,999.25	\$136.74	\$3,418.50
40		VALVE STACK BOTTOM	CAST IRON		EA	25	\$96.21	\$2,405.25	\$95.25	\$2,381.25	\$149.61	\$3,740.25	\$76.06	\$1,901.50
								RED RUBBER GASKET						
41	2"	Gasket	RUBBER		EA	300	\$1.60	\$480.00	\$1.40	\$420.00	\$0.87	\$261.00	\$1.07	\$321.00
42	3"	Gasket	RUBBER		EA	60	\$2.42	\$145.20	\$2.21	\$132.60	\$1.52	\$91.20	\$1.87	\$112.20
43	4"	Gasket	RUBBER		EA	200	\$3.60	\$720.00	\$2.95	\$590.00	\$1.76	\$352.00	\$2.16	\$432.00
44	6"	Gasket	RUBBER		EA	120	\$4.73	\$567.60	\$4.52	\$542.40	\$2.69	\$322.80	\$3.32	\$398.40
45	8"	Gasket	RUBBER		EA	40	\$6.67	\$266.94	\$5.22	\$208.80	\$3.30	\$132.00	\$4.07	\$162.80
46	24"	Gasket	RUBBER		EA	2	\$29.42	\$58.84	\$22.47	\$44.94	\$18.72	\$37.44	\$23.08	\$46.16
				Total B	Bid Amo	unt		\$133,796.58		\$141,791.06		\$124,972.11		\$123,448.71

	Bid Proposal - Schedule E (Steel Pipe) Deliver to SS Warehouse														
Itam	Size Specification Material Type Units Onty Orchard & Vineyard Supply - Pasco Core & Main - Pasco Ferguson Waterworks - Pasco HD Fowler - Yakima														
item	Size Specification Material Type Units Onty Unit Price Total Price Unit														
	STEEL PIPE														
1	4"x5'	Sch 40 Steel (bollards)	Un-Galv	Butt-End	EA	260	\$68.91	\$17,916.60	\$70.65	\$18,369.00	\$69.00	\$17,940.00	\$54.00	\$14,040.00	
	Total Bid Amount \$17,916.60 \$18,369.00 \$17,940.00 \$14,040.00														